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PROVE IT!
Agree or Disagree with the following:

“45 + 16is_me same as 40 + 10 plus 5+ 6. So, 45 x 16 is the same as 40 x 10 plus 5x 6.”
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Explain AND Show your work to prove your answer.

Based. an my research T disaguee becawse additian & mulliplication are the same but have difforent ways find the total.
The rneassn why T say that is because when multiplying if ysu want to breal up wel sa it will be easior hore is a ce..

10 %40 break up the 40 in-te 20 and 20 ss do 10 x 20 = 200 and 10 x 20 = 200 and «p 200 and 200 - 400
that is the mulliplicatisn way sf breaking dsuwn numbers. The addition way sf breaking dsuwn numbers s well ce..

19+ 19 = break up both 195 into 10 and 9 so ds 10 + 10 = 20 and 9 + 9 = 18 then adlel 20 and 18 witch equals. 38
That is why T say that they da nat. have the same way ta breah dewn rumbers
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